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November 27, 2018

Given the partial graph of function f shown below. Sketch the other half of the function in
a) if f(x) is even and in b) if f(x) is edd. Find f(-x) for each of the indicated points.
State the domain and range of each completed function.

1. Even 2. Odd

[
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7

o~

Domain: Domain: J

3. Draw a function with the following properties: .
AJ possible
a. Zerosof 3and-3 answer
b. Asx ooy -0
¢.  The graph is even
' 4
/ 1
f \
{

4. Draw a function with the following properties

possible

a. It passes through the point (-2, 3) a"swer
b. Asx>-coy>-00 / N ,'
¢ The graph is odd V4 Y

\

Nov 2-12:18 PM

Nov 2-12:19 PM

Given the partially filled out table below for f(x), fill in the rest of the table based on the
function type.

7. Even 8. odd
[x[-3]-2]-tJo]1][2] 3] x[-3]-2]4Jo] 1 ]2]3
{70 (471217 y| 18 2|0 ["Z ]2 If

9. Even functions have symmetry across the y-axis. Odd functions have symmetry across
the origin. Can a function have symmetry acress the x-axis? Why or why not?

I o graph is symmetrical wy.t- the x-atis
iHsnota funtion. ie. _ 3,

Determine algebraically whether each of the following functions is even, odd, or neither.
Check your answer using tables on your graphing calculator.

10. f(x)=2x+1 1L f(x)=2x%+1 2
FEx)= 20X | £Ex)= 26%)
= -2%x+ | = 2X%4)

gg}: ggg‘e . nerther same —~even

12, f(x)= 25+ x
$Ex)= 26 XY (~x)
-_-2X3‘ X
opp ~> odd

Nov 2-12:19 PM

Nov 2-12:19 PM

13, The cubic x* + 7x" + 13x + 3 has only one rational zero, x = -3.
Use polynomial long division to show that the remainder is zero when dividing the cubic by x + 3
Then use the quadratic formula o find the other two (irrational) zeros.

XZayx + | Aside: N
%+3) X 2+7X 4 3X~3 X{x+3) = X3
L o= 32 Yx (x+3)= 4xH12x
yx*+13¥
- ”x"— 12X Xa.;qx-}- | = O
oA p=yac- b -4(DM =12

5~ 2 =243
X= —4_2_@__
2

Answers on Last 2 pages

Sketch: y=2x®+4x%-3
Find:

Increasing:
Decreasing:
Rel Min:
Rel Max:

Oct 22-5:21 PM

Oct 29-1:23 PM
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3-6: T letel
2. Find the zeros of the polynomial, state the multiplicity of each. Sketch (including Factor completely
the end behavior) 3. 33+bxE-x-2 4. X' _Bx2n, 4
P(x) = x(x + 3)%(x - 1) z M T/C
Degree:
End Behavior:
5. 64x°+27 6. (x-3P-(x-3)-6
Sketch:
Oct 29-1:26 PM Oct 29-1:25 PM
7-10: Solve (Factor completely first) 11, Use long division to find the quotient (Q(x)) and remainder (R(x)). Verify your
remainder with the r inder theorem.
7. x*-40x*+144=0 8. 2x*-3x?-10x+15=0
(2x%+5x2+3x-4) + (x+2)
9. x°-81x=0 10. 3(x-1?2-(x-1)-2=0
Ts (x + 2) a factor of 2x® + 5x? + 3x - 42 Explain your answer.
Oct 29-1:25 PM Oct 29-1:26 PM
Name 136, ‘; Alg2cc
Date Review Unit 5
i i 3 2 < - 1 Shkefchi y=2x"+4x?-3
12. Given the polynomial P(x) = x* + x* + kx - 4, find the value of k such that x- 2is a Find: [ 1. (0.20)
factor of P. Tnereasing: (-0, ~1.33), (0,20

Decreasing: _[- _e (L3, -u3) =
Rel Min: _[0,-8
Rel Max: _[~ - (0,-3)

2. Find the zeros of the polynomial, State the multiplicity of each, Sketch (including

the end behavior)
Using your value of k, find the other factors of P. (either sketch or algebraically)
P} = x(x+ 3P (x- 1) z M ‘ T/C
begree: i -3 [ 2 | T
End Benavior: T T 0 | C
Ll Te
Sketch: ? . i‘
-3 0
3-6: Factor completely
3 adesxt-x-2 4, xn-BxTed
- A [xan)-1fxie) (¢ )x-1)
R0 (02) (X2 )1 (x4 1)

5. 6axiez7 = {4X+5){J[PXZ—JZX1‘Q) 6 (x-3F-(x-3)-6 Letu=x-3
a-lx UEu-b
b=3 {u-3)(u+z)
(x-3-8)x-3+2)
(x-6)x-1

Oct 29-1:26 PM Oct 26-11:14 AM
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7. x‘—lﬂxz;luiﬂ 8 2x'-3¢-10x+15:=0
(-4)(%-3) =0 X{21%-8)-8(1x-3) =0 .
(-2t 2)(x-Ulkit) =0 (3)(x-5) -0 i35
1 X1 W Xeb 2¥8=0 x50
Zl‘Z,ib} X-_L ; fﬁq Letusx-1
9. x*-8lx=0 . 10. 3(x-1F-(x-1)-2:0 R
X(x#-9)=0 504:3“{5} -z =0 <0
X (¥™ai(xaq) =0 ju}—au;zur—z:)oo X3
%)= ufu-n+2(u-N=
K(xHAN+3)(%-3)=0 oL+ 2)u-ne ¥-2:0

HO A0 XFCHSO (sly-paixin-o | K]
ey X (BX-1(X-2)-0 ih
11, Use log diision fo find the quotient (Q(x)) and remainder (R(x)). Verify your
remainder with the remainder theorem. ASIdE. ‘
X K2) v
X(x+2) XM 2%

(@ epE e B )+ (xe2)

)(+2_)llxb(:qu;((:13x 0 (W) =¥A2
T Q%)= 2%
~X1X RO =
7” D F 45(-2)"32)-4

Is(x+2)a famr_Esz‘ 4574 k- 42 Ea{pm%.ym answer.

No. I Y42 was afactor, +he remainder would be 0.

12 Gw:n rhe yommul P(x) = % 4 % + kx - 4, find the value af k such that x - 2is @

gy ZK?; LOR SISt

0-8+2k
=2 Usinc r‘mlleﬂ e other factors of either sketch or al raical
g ?m lw'kq'f“'wh)’_“ e kfr'";l k)
£ () E] B
2w0- )iy T o e

November 27, 2018

Oct 26-11:15 AM

Nov 27-7:48 AM
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